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QUESTION 1

What may be an economic benefit of Cloud computing? 

A. a custom accounting system 

B. acceptance by employees 

C. purchasing thin clients 

D. reduced overhead 

Correct Answer: D 

 

QUESTION 2

One of the limitations concerns of Cloud computing is uncertainty about where your data is stored in conjunction with
varying national and international legislation on data protection. 

Which issue does this raise? 

A. Availability 

B. Confidentiality 

C. Integrity 

D. Security 

Correct Answer: B 

 

QUESTION 3

Why may Service levels vary for Hybrid Clouds? 

A. Hybrid Clouds are constantly shifting from Public to Private Clouds. 

B. Hybrid Clouds are less reliable than Public Clouds. 

C. Hybrid Clouds are less reliable than Private Clouds. 

D. SLAs of Hybrid Clouds contain a mix of Public and Private Cloud SLAs. 

Correct Answer: D 

 

QUESTION 4

What is not an operational benefit of Cloud Computing? 
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A. Instant server deployment 

B. Less IT staff 

C. Managed services 

D. Possibility of back-ups as a service 

Correct Answer: B 

 

QUESTION 5

What is an important limitation of Cloud computing? 

A. actuality of data 

B. inflexibility 

C. regulatory concerns 

D. volume of waste 

Correct Answer: C 
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